Kea Community Primary School

Orange Card 6
| know tables facts for the 5x table

A B C
1x5=0) (O=6x5 (O x5=20
2x5=0 (O=7x5 (Ox5=25
3x5=0) (O)=8x5 (Ox5=30
4x5=0) (O=9x5 (Ox5=35
5x5=0) ()=10x5 (Ox5=40
O=60+5 5+5=0 5=0O=+5
(O=55+5 10:5= O 6=0=5
(O=50+5 15+5= O 7=0=5
(O=45=+5 20:5= O 8=0+5
(O=40+5 25+5=O) 9= =+5
5x8= O 12= (=5 5x7=0
30+-5=0) 5x11=O) 11=O=+5
5x6=0) 35+5=0O) 10x5= O
5x12= O 10x5= ) 11= () =5
10=(O)=+5 9= (=5 5x3=0
45 +5= O s5x4=0O 20+5= 0O
5x2=0) 5x10= O 8= (=5
7=0O=5 50+5= 0O S5x1=0O)
0=0O=+5 1= +5 5=0=+5
60+5= O 4=0O)=+5 55+5= O
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Kea Community Primary School

Orange Card 6 - Answers
| know tables facts for the 5x table
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